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(zi) Use of calculator is allowed.
(ii1)  All questions carry equal marks.
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1. What is Monopoly ? Describe the price and output determination in the
monopoly market with suitable diagram. 10

(alla fa

THITUHR US| & ? THIESRE fohad d 3caed et Tehdicar TI5 .

Or
(feram)
When total revenue (TR) and total cost (TC) of a firm is respectively :
R = 20Q - Q2 and

C=Q2%+8Q+2

is given, then find out equilibrium output level (Q) and equilibrium price (P)

and profit (m) of a firm.
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T SENEEEEE! TR Wl (TR) 9 THo @9 (TC) 31w
R = 20Q - Q2 aTfoT
C=Q%2+8Q+ 2
FEEA T AR Iaed (Q) & Hend fohAd (P) T€E T () Hifed .

What is indifference curve ? Describe various properties of indifference

curve. 10
TG oIk OIS A ? WA ook fafay T[ueH T 6.
Or
(fenam)

The utility function of a consumer is :

U = 49195 + 39199
and budget constraint is 2¢; + 6g5 = 60; then find out equilibrium quantity
of g; and g9 commodity.

Tehl SUYFA™ SYAINT %

30T e WA 2g, + 6gq = 60 fEeiedl SHAF g T o T BRET TEEAT Hifed
.

What is revenue function ? Explain various concept of revenue function. 10

3O Tl WS kI ? 3= e fafay Geheudr TS HA.
Or
(feram)

90
Given the demand function Q = Y and P = 90 and P = 30 then find out

the elasticities of demand for these two prices.

90 L. N o° [al [a}
mﬂUﬂWQIF fel M T8 P = 90 9 P = 30 feoial 3 o a1 <14l fhuadiand

U= Adfeaehdl T .
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4. Write short notes on any two of the following : 10
@) Elasticity of demand
(11) Monopoly power
(i)  Utility function of a consumer is U = 10g; + 59199 and g9 = 5 then
find out marginal utility of gs.
(v)  When marginal revenue MR = 1.5 and elasticity of demand e; = 4
is given then find out AR with the help of following formula :
AR = MR ( % ]
e, —1)
ETATAUh] HIVEEl MR e feo femr :
@) HITOT= e ferehdl
(i)  UHIEHRR e
(i) el SUWERA SWIAEEed U = 10g, + 5199 9 qo = 5 ool S/am
qo = T SwEfiTar wfed .
(v) SR T foEE 9 MR = 1.5 9 ARTOE! araendl ey = 4 foeiel STEam
Eellel YR STER AR Hifed &4
AR = MR ( % j
e,~1)
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